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6. Let p be the proportion of automobiles whose emissions exceed the standard. Then 
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, and a 95% lower confidence bound for the proportion of automobiles whose emissions exceed the standard is 
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10. From 9a., a 95% confidence interval for p is (0.0529, 0.1055). Let
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 be the probability that both components function. Then a 95% confidence interval for
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14. Let p be the proportion of steel alloy failures due to stress corrosion cracking.
a. 
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b. 
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 and a 98% confidence interval for the proportion is 
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, so n = 284
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